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General Instructions;

(i) All questions are compulsory.

(i)  The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

(i)  Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

(iv)  There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

(v)  Use of calculator is not permitted.
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Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

e &

{[(En%] . } FUAE

1 1
(4) 3 W & < 9 {D) 5

=1 2

Value of {[(31)_%-) 1 s
& 3 ® 1 © 9 o =

3 9
A% plx) =22+ 3x — k F1 TF UHEE x—2 B, Ak FIAAE : 1
(A) -4 (B) 8 © 14 (D) 0
The value of k, if x—2 is a factor of p(x)=2x"+3x—k is :
(A) -4 (B 8 © 14 D) 0
IR x+y=9 T ay=208, AL+ /S TAAE 1
(a) 24 (B) 41 © 81 (D) 141
If x+y=9 and xy =20, value of ¥+ is :
(A) 24 (B 41 © 8 (D) 141
TR (F©+5) (d—2) FTHAE : 1
(A) 5 (B) 3 © 8 D) 2
The degree of the polynomial (x° +5) (4 =27 is:
(A) 5 B 3 © 8 D) 2
afs P 1 O o1 =1 <) i ¥ A & R 8, A B g 1
(A)  aifam o vy (B)  wwang Byw
(€ wefgeE e (D) R B

If one angle of a triangle is equal to the sum of the other two angles, then the
triangle is :

(A)  Obtuse triangle (B)  Equilateral triangle

(C)  Isosceles triangle (D) Right triangle

I Frygst % it vindes wmm 2, 6 s @ 1
(A)  FE P (B)  wHlEag By

(€ =1 = (D) wwarg frgst

If the 3 altitudes of a triangle are equal, then triangle is :
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10.

11.

12,

13.

(A) * right angled triangle (B)  Isosceles triangle
(©  acuteangled triangle (D)  Egquilateral triangle
g (3, —5) 3 (-5, 3) ferg

(A) uwE guln (B) IV 3R =guiw
© IR gty § (D) IRV Sgete &
The point (3, ~5) and (=5, 3) lies in the :

(A)  Same quadrant (B) IV and II quadrant
(C)  [and Il quadrant (D)  Mand IV quadrant

IS (9, ~8) 1 y-s181 Wt <y whefaresr

(4)  (-98§) B ©53 Q@ (-9 -8

Mirror image of the point (9, ~8) on the y-axis is :

[A} [ =9, 8) {B} (9, 8] [C} (_ 9 = SJ

@us-7/ SECTION-B
T HEAT 9 & 14 F vl % 2 sim
Question numbers 9 to 14 carry two marks each,

X

La(b—c) : +P ¢
E-‘?!isq %xh[i‘l“f} - [-—a- =1

xa(b-—cj 1 +b £
Show that xb{a-—:)' b (;; =1

qﬁx—%:ﬁ@,?ﬁx2+izmﬁ!%w
s X

Find the valueof 22 + 1 iy _1_
X X

Wﬂﬂﬁl‘f{:216f+i—%

Factorize : 216x° + 1
125

qwTe % ¢ & s frfa

State any two Euclid’s axioms.

ﬂﬂ"-li"-nl_.—

1

1
(~8,9)
(-8,9)

2

2

2

2

ﬁaﬁ%@ﬁmﬁhmwowm@aw%‘r AT LPOY=90° iR a: b=23 2

ﬂ,ﬁcwmmﬁ?ﬁqn
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15.

1s.

In the figure, lines XY and MN intersect at O, If ZPOY=90and a: b =

find the value of c.

i P
=1
+ b —
X E\ Y
N
HYaT/ OR
faavﬂ AB|ICD &1 z, . DNM R ZCNM 3 Fifsg .
SN
A B
(3z—42)°
(2z+ 13)°

f—

C N\

In thjm_e figure AB|/CD find the value of z, ZDNM and #CNM.

4__\M ;

A R
(3z—42)°

B

(2z+13)°
& N\ D

s oy = aﬁm‘f?cm,ucmaﬂ“{mcmhm@ﬁ*Wam#ﬁm

The sides of a triangle are 7em, 12cm, 13cm, Find its area,

WUE-T/ SECTION-C

WY AT 15 W 24 % ek % 3 of &
Question numbers 15 to 24 carry three marks each,

2+8 _2-43
SR 2-B 2+ 43
2+3 2-f

Simplify -
i 2+ 3
39T/ OR

[x- %]3 1 W F FI, S =14 (38

3
Find the value of [x - 1) fx=1++2
T

=1/
& FifeT ; 125 /3 (1253’é - IZS%J

= 1
Evaluate : 125 b (125/3 - 125%]

2:8,
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17.

18.

19.

20.

9a\4\\ 1

ToREYE HIfAT ; 12577 — 2?3'3 +2° +45 xyz
Factorize : 125x° — 27y° + 2° + 45 xyz
HYFT/ OR

TUTETS FIC : 2 + 32y + 3wy +4° -8,
Factorize : ¥’ + 32y + 31/ + - 8.

TEIR ka’ + 3273 SR 2P 5+ k F x—4 @ I 3 WY S 99 E )
k &1 919 91d Hifeg |

Polynomials kx’ + 3x* - 3 and 2¢*— 5 + k, when divided by (x—4) leave the same
remainder in each case. Find the value of k.

o & AB|ICD, 2APQ=50° 3% ,PRD =127 %) x 3R y 9 Fif)
P

ak

-
&
m y

C Q R D
In figure, I%f AB|ICD, ZAPQ=50° and #PRD=127°, Find x and y.
A 50 B
y
¥ 127°

=
UII‘

Q
3eET/ OR
af< fo § ABJICD &, 4t x %7 51g 9 i

bE 4o Q
1D _Ssecne R
— ;

/ L

/
I
YA Y
In figure, if ABHCD, then fiif}d the measure of x.
4 4

Q
_________-——' g

/"

R

YA YO
e i PQ=PR %/ =iz fiF PS> PQ 2|
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21.

%P\\
Q R
In figure PQ= If’PR, Show that PS > PQ.

5 Q R

fr# AB=EF, BC=ED, ABLBD @iRFELEC %1 fug #ifse &7 AABD = AFEC ®1
F

':

In hgure AB=EF, BC ED ABLBD, FELEC. Prove that AABD = AFEC.

]

e Hfzare Frst R AB=AC ¥ o1 U e AD 1 zuige fF

@  AD,BCH wufgfim =t €

@) <A EAEAEE AD ¥

AD is an altitude of an isosceles triangle ABC in which AB=AC. Show that:

(i)  AD bisects BC (i)  AD bisects ZA.
trﬁ:mscfraﬁ*ﬁgaaﬁzgc%nﬁmmomﬁaﬂ%ﬁﬁg%ﬁ
/BOC= 90°+£fi

A\

[E the bisector of angles /B and £C of a AABC meet at O, then prove that

/BOC= 9ﬂ°+£2*‘l.
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24, mmmwﬂﬁﬁwvﬁﬁﬁﬁmwﬁﬁﬁmwfmﬁmww%lm 3
ﬁnﬁﬁaﬁmﬁﬁmﬂgmmmwﬁﬁm%mmﬁﬁm

4 cm

6q

4 em Blas:% y 4 em
6>

4 cm
Black and white coloured triangular sheets are used to make a toy as shown in

figure. Find the total area of black and white colour sheets used for making the

toy.
4 cm

4 cm

4dem

EUE-g/ SECTION-D

WY WA 25 ¥ 34 F wedew % 4 ove F
Question numbers 25 to 34 carry four marks each.

2. qMe = L B, W 2P~ 2r% 7y +5 I SHifo | 4
2—-43
Fx=—> , find the value of 2x*— 24 — 75 + 5
2- 3
HUET/ OR
2./6 62 8.3
maaﬂi"au: =+ —
V2+3 "6+ B+h
o 2./ 642 83
S e Ve OV
R - R i e
26. 4
a= V3 +1 drp=1 @,?ﬁa2+ab—hzfﬂﬁaﬂﬁﬁ"{f
JE*I a
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27.

29.

a=-j§+1
J3-1

and b= 1, find the value of a2+ab--b2
a

UFETS FIY : 2+ 132 +32x+20
Factorize : ¥ +132° +32x +20

i TEE f(x) = px’ +4x +3x—4 it g(r) =2’ —4x+p A (x-3) J 9 A W
e 1 A T B, W p A T i

If the polynomial f(x) = px® +4x" +3x~4 and g(x) =x"—4x+p are divided by
(x—3), then the remainder in each case is the same, find the value of p.

pa—qamﬂﬁﬁ!ﬁmﬁaﬁp—q=%q ﬁ?pq=%%l

Find the value of pz—q", ifp—q= 1;1 and pq= _55

ﬁaﬁﬁa@mﬁn%@ﬁwﬁﬁm:
@) . fagp & P
() EEQE Y

(i) ﬂ%ﬁﬁﬁtﬁﬁﬁ?ﬁh&f})%l
(iv) %ﬁgmﬁﬁ%ﬂ%(-a-a}%t
Y

-6
-5

T
|
L]

vy
See figure and write thi following :

(1) Co-ordinates of point P.

(i) Abscissa of point Q.

(iii)  The pointidentified by the co-ordinates (—4, 5)
(iv)  The pointidentified by the co-ordinates (=3, — 6)
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fd LMN o wafgarg e @ fed LM=LN SR NLQ & wafewers Lp &1 4
fag =ifsre f6 LPjMN &1
Q

M N
In the figure LMN is an isosceles A with LM =LN and LP bisects ZNLQ. Prove
that LP[MN

M N

AABC %! Y51 BC 1 D 7% @R 1 §1 ZA 91 Tiwe® BC 91 L W frewmn 31 4
quiEY fF LABC + ZACD = 2 ZALC #)
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/‘T\
B L C 1

D
Side BC of AABC is produced to D. The bisector of #A meets BC at L. Prove
that ,{ABC + ZACD = 2 ZALC.

D

=]
[“'>
@]

e/ OR
PORS T% =gy & fawm PQ=RQ, ~PQT= JRQU £TQ5=2UQs 1 faz
W%QT =QU &1

PQRS is a quadrilateral. PQ=RQ, ZPQT=2RQU, £TQS=,UQS. Prove that
QT=QU.

femt o fem a8 6 RT=1TS, £1=2 2230 24=2 23 % Tag wifow fr 4
(i)  ARBT = ASAT (i) RB= AS®I

R
In figure, it is given that RT=TS, £1=2 £2 and £4 =2 /3. Prove that:
(i) ARBT = ASAT (i) RB= AS
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mac%wacmﬁgnﬁwww%% AD=AE 3R /BAD = /CAE$)

ﬁﬁﬂﬁﬁmﬁ?&&mﬁwmﬁﬁﬂﬁ%i
A

by

BE D B C
D and E are points on the base BC of AABC such that AD=AE and

<BAD = LCAE. Prove that triangle ABC is an isosceles triangle.
A

-000-

anla\\
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